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Simultaneous Rosenbluth Fit A
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L, T, LT, TT Cross Sections
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Testing the iteration script

SIMC Output

Weight

calculation script

© Calculate new Weight using initial fit parameters -> Consistent !

=

File Egit View Options Tools

Weight prev iter00

htemp

Entries

Mean 6.266e-06
Std Dev 3.422¢ 06

199811

l] J[ 1 l[ 1 II] 1 1 1 1 l 1 1 1 1 II 1 1
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Weight_prev_iter00

File Edit View Options Tools
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htemp
105 ? Entries 199811
H Mean 6.266e-06
Std Dev 3.422e-06
10 i~
10° S
107
10 ?(Iﬂ
- [iﬂxlx LJLll | - ﬂxx x10
0 0.1 0.2 0.3 0.4 0.5 0.6
Weight

CAP Congress Meeting

Abdennacer Hamdi



lteration 01



SIMC Yields

g ambda.root as fileoO.
File Edit View Options Tools Help

© After new Weight calculation using fit parameters

name cl
overflow 1

of iteration 01 -> Weighed variables crash !
overflow 1
overflow 1

overflow 1

c1 X

File Edit View Options Tools Help fl .
Weight overflow
htemp enter lowe lambda.roo
B Entries 199811
Mean 7.787e+33
SR kI [ ambda . root as _fileO Check drawn Objects.
name cl
:nter lowe lambda.root
Check drawn objects.
Attaching file QOp5W2p40 iter0l/Prod Coin QOp5W2p40center lowe lambda.root as file0.
the pad. Check drawn N - - - - - -
(TFile *) 0x11b8e00
root [1] hlO->Draw("W", "Weight")
Check drawn objects. Info in <TCanvas::MakeDefCanvas>: created default TCanvas with name cl
I N | DU T (tong long) 196373 . .
50 100 150 200 250 300 IWarning in <TCanvas::ResizePad>: Inf/NaN propagated to the pad. Check drawn objects.

Weight Warning in <TCanvas::ResizePad>: cl height changed from © to 10

root [2] h10->Draw("Weight")

T e T R A S Te s (| (T S et tEY ey (o root [2] Warning in <TCanvas::ResizePad>: Inf/NaN propagated to the pad. Check drawn

objects.
Warning in <TCanvas::ResizePad>: cl height changed from © to 10

Warning in <THI1F::ExtendAxis>: Histogram htemp has underflow or overflow in the axis
that is extendable their content will be lost

Warning in <TCanvas::ResizePad>: Inf/NaN propagated to the pad. Check drawn objects.
Warning in <TCanvas::ResizePad>: cl height changed from 0 to 10
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SIMC Yields

teration 01
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